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Note: All questions are compulsory. Marks are mdzcmed against each question in square

brackets. Do all set of ¢ question at a single place.
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[CO1]
Which enzyme wiil have a higher cost, the enzyme used in detergent of the snzyme used as
therapeutic? Why? i2]
List the names of two organisms for the production of each: 12§
a} Penicillin b)Y Lactic Acid
(C02]
a) Which precursor is used for the production of Peniciilin V7 i1
b Whizh enzme i used fo Tyse the fangal cells? 13

¢) Whether nucleic acid removal is requived in an exwracellular nroduct recovery? Justily

YOUr AnSWoT : 12
{03
Why salt-induced precipitation of the protein is carried out at low temperature? |21
2) How filter aid affects the filtration” i1
b) How the concentration polarization affects the membrane- based flrration? How will you
deal with the issue? {31
{CO4, 5]

a) How the ‘Height Equivalent to a Theoretical Plate (HETPY affect the resolution of the
peaks in a chromatogram? : i2]

%) IF you wish (o purify two different proteins A and B having p! 5.0 and 7.0 respectively
and the protein A is found to be unbtablc at alkaline conditions. Design an experiment
(flow chart) for the purification of both the proteins using ion exchange chromatography.

121
A Sephacryl gel filtration chromatography is used to separate two hormones A and B. The

o
,

gel filtration column is 5 em in diameter and 0.3 m high; the void volume 15 1.9 x 10



16.

The water regain value of the gel is 3 x 10~ m’ kg! dry Sephacryl; the density of wet gel is
1.25 x 10° kg m™. The partition coefficient for hormone A is 0.4; the partition coefficient for
hormone B is 0.2 and the eluant flow rate is 0.8 1 h.

a) What is the retention time for each hormone? 121
b) Which Hormone has the higher molecular weight and why? [2]
1C06]

a) Why the formulation of a bioproduct is required? - 12]
b) How the iron limitation in media enhances the Citric acid excretion? 21

Why Zvmomonas mobilis seems to be more promising over the yeast for the alcohoi
production? 3

Draw the flow chart for representing the downstream processing of following: {51

ay Citric Acid b) Glucenic Acid



